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SECTION-A                 10
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1=10
1. Why 5
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11+7 is a composite number?

2. Find the zeroes of the polynomial x2-3x-4.
3. Write the nature of the roots of the equation x2+6x+6=0.

4. Check whether the given series a, a2, a3, a4……..are in AP or Not.

5. Write the missing terms of the A P.   0,  -  -8 , -12,  - .

6. If cosA =
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3

, find 9cot2A – 1.
7. Express sin670+cos750 in terms of trigonometric ratios of angles between 00 and 450
8. What is the distance of the point (-3,-2) from the origin?

	9. In fig., AB DE and all dimensions are given in cm. Find BC
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10. Find the distance between two parallel tangents to a circle whose radius is 4.5 cm.
  



SECTION-B                5
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2=10
11. If LCM (12,28)=84, then what is the HCF(12,28).



OR

Why the number 15n, where n is a natural number can not end with 0?

12. For what value of k, the following pair of linear equations has infinitely many solutions? 10x+5y-(k-5)=0,  20x + 10y –k =0.

13. Without using trigonometric table , evaluate the following :
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14. If the vertices of a triangle are (1, k), (4,-3), (-9, 7) and its area is 15 sq. units, find the value of k.

	15. In fig. , DE  AD and 
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SECTION-C                 10
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3=30
16.  In  ABC , if AD is the median, show that AB2+AC2=2(AD2+BD2).
17. The line joining the points (2,-1) and (5, -6) is bisected at P. If Plies on the line 

        2x + 4y +k=0, find the value of k.

18. If two zeroes of the polynomial x4-6x3-26x2+138x-35 are 2±√3, 
       find other zeroes.

19. Prove that √3 is a irrational number.

20. Solve for x and y 
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                           OR

     Solve the following system of linear equations graphically : 3x+ y -12+0 ; 

      x- 3y +6=0.
21. If the points (5, 4) and (x , y) are equidistant from the point (4,5), prove that 

      x2+y2-8x-10y+39=0.

22. Find the sum of all multiples of 9 lying between 300 and 700.
           OR

       The sum of three numbers in AP is 3 and their product is -35. Find the numbers.

23. Prove that 
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24.  Prove that sin6A +cos6A =1-3sin2A cos2A

25. Prove that the points A(-4,-1),B (-2,-4), C(4,0) and D(2,3) are the vertices of 
       a rectangle.

                                               OR

       Find the ratio in which the line segment joining the points (6, 4) and (1,-7) 
       is divided by x-axis.





SECTION-D                


 5
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6=30
26.  Prove that the ratio of the areas of two similar triangles is equal to the ratio of 
       the squares of their corresponding sides.

       Using the above theorem, prove that the area of the equilateral triangle
        described on the side of a square is half of area of the equilateral
         triangle described on its diagonal.
27. The angle of elevation of a jet fighter from a point A on the ground is 600. After
       a flight of 15seconds, the angle of elevation changes to 300. If the jet is flying 
       at a speed of 720km/hr, find the constant height at which the jet is flying. 
       (Use √3=1.732).

                                                          OR

    
    The angle of elevation of the top of a tower at a point on the level ground 

      is  300.   After walking a distance of 100m towards the foot of the tower along 
     the horizontal line through the foot of the tower on the same level ground, 
     the angle of elevation of the top of the tower is 600. Find the height of the
     tower.
28.  The speed of a boat in still water is 11km/hr. It can go 12km upstream and 
       return down stream to the original point in 2 hours and 45 minutes. Find 
      the speed of the stream.


OR
       B takes 16 days less than A to do a piece of work. If both working together can 
       do it in 15 days, in how many days will B alone complete the work?
29. A man travels 600km partly by train and partly by car. If he covers 400km by 
      train and the rest by car, it takes him 6hours 30minutes. But if travels 200km by
      train and the rest by car, he takes half an hour longer. Find the speed of the train 
      and that of car.
30. In 
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ABC, AD is a median and E is the midpoint of AD. If BE produced meets AC
      at F, show that AF= 
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 AC.

         

--------------------- ---------------------
-------------------------------------------------------------------------------------------------------
www.cbseguess.com
Other Educational Portals
www.icseguess.com | www.ignouguess.com | www.dulife.com | www.magicsense.com

[image: image19.png]_1283936630.unknown

_1283936781.unknown

_1283936882.unknown

_1283936686.unknown

_1283851294.unknown

_1283851579.unknown

_1283854106.unknown

_1283854126.unknown

_1283854049.unknown

_1283851428.unknown

_1283850035.unknown

_1283850419.unknown

_1283848356.unknown

